Sr Questions Answers Choice

. p15.999
16.999p
.17.999
EPTS

1 = oo o) Jang) (S GageST

2 oSl S s

AN =D

3 o S g calite (ele (el San s S ele () S g pealic o

4 = &ee (S-a.mu

<T aQw™

1957 ¢
1961 «
1958 -
1662

5 LS s on S ol S s 5 3 S -IUPAC

1957 «
1955 ¢
1958 ¢
1956 «

6 LS iy b S S e (a8 a5 i sS850

sl g 2858
RUNYN

e m 12 S
el 12 s

7 LS Sasnt s (e o) ol G 5ty o) 34 ),

1611
1811
1911
1711

8 L& LS et an le (I ssille sl (o

i s
SN
olle

53855

9 WS Cjlaie € ube 1Sl 5l (o I G,

e
ey
s 3850
i SS

10 = S b e S

11 = G i S e (e (e (R sl el oo

12 i S ol e S Gule S

DOUF UO®P» DOUP UO0WP D0WP» U0WP 0DO0Wr D0WP» UOWP» D0U» D0mF U0W>



